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10x; — x5, +2x3 — 3x, =0
X1+ 10x, —x3 + 2x, =5

2x1 + 3x2 + ZOX3 - X4 == _10
3x1 + 2x2 + x3 + ZOX4 == 15

W Alaad) o3gd (o oSl A8y 5k O (8 2 (1
1074 Syl Uadldl (4585 i A 50U @l ) Sl aae ol (2
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Y10 = 1.348
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A Al e Joané
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il (3ala
Agha cysas Alea Jal 5 ydlual 3 bl

A0 591 sl S e gl YA (e 5yl 030 Ak Al (5Ll (18

Lalall saee Y g Jeady 5 cdilise o) Alialdy aal ol Cacall jpealie O Joady
Ada saudll
>> A=[1 2 3 4]
A =
1234

daiy 51 2 34 paliadl (e (558 2al 5 Ciua Ll o A 4 ghadll DL Lilao] Ui
Alavin) clS(, Adalyy ) Ul g jeaic JS G duaid Ol (Sadl e OIS ) ddlisa i S G
SMi@Ji}h\)umuAhMom JM‘LJL_!).\LA

>> B=[1,2;3;4]
B =
1
2
3
4
iy Ol b G ead Ul 5 uaie IS G Jaadl 4l siie Alald aa 58 B 48 giadll b
lia S S LS jaie
o siua a ) (e A8 s 3 ) a8 B A sieadl LU Ml il a8 AL (4313, Laild
al g3 5ae
>>A=[123:456;7809]
A=
123
456
789

36




{(BX3) Aol gl e Uiland

48 j0na J 5%

123
456
789
>> B=A

147
258
369
A" ey A ddsiadl Jiie B 48 siadl Jid
Gl saall e clleall
7okl aenll -

123
456

147
258
>> C=A+B

2610
610 14
bl e ol yal (S Fi LI ki
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1234
5678
B =
15
26
37
48
>> C=A*B
C=
3070
70174

dauSall 48 ginal)

Do sSaa e ) el A5 jv( ) Al GO 8 an s 4dl QIR ALE A el 1)

A =
1023

4203

3310

>> B=inv(A)

B =

0.1121 -0.0065 -0.0317
-0.0182 0.0534 -0.0106
-0.0282 -0.0141 0.1127

b LS 3 il 48 a4

L ealee dlaa Jal Gilall Ga g 43k
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B sl ae Gl parial) oial ase o)) A 2l - SiRe (e 3 e (MUl el
1- %program to solve a system of linear equations
2- Clear ;
3- format short
4- a = input([' Enter The Array of Coefficients a="); %e.g [1 2;3 4]
5- b = input([' Enter The Arrays of Constants b ="]) ;
6- n = size(a,l) ;
7-A=[a,b];%indentaand b in a single matrix
8- for k=1:n %loop on the columns
9- [amax, im]=max(abs(A(k:n,k)));
10- if amax==0
11- disp(‘'matrix is singular, no possible solution');
12- break;
13- end
14- im=im+k-1;
15- if im~=k
16- T = A(Kk,:);
17- A(k,:) = A(im,>);
18- A(im,)) =T,
19- end
20- for i=k+1:n
21- A(i,k:n+1)=A(i,k:n+1)-(A(i,K)/A(K,K))*A(k,k:n+1);
22- end
23- end % end of triangularization of the matrix
24- if A(n,n)==0

25- disp(‘'matrix is singular, no possible solution ann=0");
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26- break;

27-end

28- x(n)=A(n,n+1)/A(n,n); %start of backward substitution
29- for i=n-1:-1:1

30- x()=(A(i,n+1)-sum(A(i,i+1:n).*x(i+1:n)))/A(,D;

31- end
32- disp(x)
AX=B Al ihill deall da (gabd) zeali yall Slasivie
1 -1 2 —1 X1 -8
|2 -2 3 =3 _[x) .5 _ [ 20
A=11 1 1 o | = \x[iB= {1
1 -1 4 -3 X4 4

>> GElimination

Enter The Array Coefficientsa=[1-12-1;2-23-3;1110;1-1
4 3]

Enter The Arrays Constants b = [-8;-20;-2;4]
X =
-7.0000 3.0000 2.0000 2.0000

Al o 3okl s Jsl s cValeall (e ad sl (sf dal 5 il (5 )k Ll i g
Gl Sy ¢ arall gladll o b g O laall 48 jeine Adua linsolve(A,b)
fb LS B il e B bl JUl) e gadailly SllY (44

>>A=[1-12-1;2-23-3;1110:;1-143];
>> p=[-8;-20;-2;4];
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>> X = linsolve(A,b)
X =
-7.0000
3.0000
2.0000
2.0000
Agdis g Al sle Al A shiae ) A A sheadl st 233 linsolve() Al

dubad c¥alea Jaa Jad 40 il 5 k)

9S> 48y 5k -1
(b WS s (sSla ARy el il el il

1- %program to solve a system of linear equations using Jacobi
method

2- Clear ;

3- format short

4- a = input([' Enter The Array of Coefficients a="); %e.g [1 2;3 4]
5- b = input([' Enter The Arrays of Constants b =']) ;%e.qg [1;2;]
6- n = size(a,1) ;% where a is nxn and we want n only

7- X0 = input([' Enter The Array of first trial X0 ="']) ;%e.g [1;2;]

8- kmax = input([' Enter The Max number of iterations ="'1]) ;%e.g
[10]

9- X = x0; At = zeros(n,n);

10- fori=1:n
11- forj=1:n
12-if j~=i

13- At(i,j) = -a(i,j)/a(i,);
14- end
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15- end

16- Bt(i,:) = b(i,:)/a(i,i);
17- end

18- for k = 1: kmax
19- X = At*x0 + Bt;

20- x0 = X;
21- end
22- disp(X);
Jlia
Al ddadl) dlaal) Ja 3ald) @u ) Leadtina
10 -1 2 0 X1 6
-1 11 -1 3 X2 25
2 -1 10 -1 X3 -11
0 3 -1 8 X4 15
>> Jacobi

Enter The Array of Coefficients a=[10-120;-1 11 -1 3;2-1 10 -
1;0 3-1 8]

Enter The Arrays of Constants b = [6;25;-11;15]
Enter The Array of first trial xO = [0;0;0;0]
Enter The Max number of iterations = 10
1.0001
1.9998
-0.9998
0.9998
Jhb -0 s 43 )k -2
Tl -(a 548 Hhay dall e Gl (o sSla el et Jiay (AU el
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1- % solving a system of linear equations using Gauss-Siedel
method

2- Clear ;

3- format short

4- a = input([' Enter The Array of Coefficients a="]); %e.g [1 2;3 4]
5- b = input([' Enter The Arrays of Constants b =']) ;%e.g [1;2;]
6- n = size(a,1) ;% where a is nxn and we want n only

7- X0 = input([' Enter The Array of first trial X0 ="']) ;%e.g [1;2;]

8- kmax = input([' Enter The Max number of iterations ="'1]) ;%e.g
[10]

9- X = x0; At = zeros(n,n);
10- for k = 1: kmax
11- X(1,:) = (b(1,:)-a(1,2:n)*x0(2:n,:))/a(1,1);
12- fori=2:n-1
13- tmp = b(i,))-a(i,1:i-1)*X(1:i-1,:)-a(i,i+1:n)*x0(i+1:n,:);
14- X(i,:) = tmp/a(i,i);
15- end
16- X(n,:) = (b(n,:)-a(n,1:n - 1)*X(1:n - 1,:))/a(n,n);
17- x0 = X;
18- disp(X");
19- end
20- %disp(X);
Jlia
s -pa5& 48k zali o Aol 5 ST AGLL) Alead) Ja @ i

Enter The Array of Coefficients a=[10-120;-111 -1 3;2-1 10 -
1;0 3 -18]

Enter The Arrays of Constants b = [6;25;-11;15]
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Enter The Array of first trial xO = [0;0;0;0]

Enter The Max number of iterations = 10

K X1 X X3 X4
1 0.6000 2.3273 -0.9873 0.8789
2 1.0302 2.0369 -1.0145 0.9843
3 1.0066 2.0036 -1.0025 0.9984
4 1.0009 2.0003 -1.0003 0.9998
) 1.0001 2.0000 -1.0000 1.0000
6 1.0000 2.0000 -1.0000 1.0000
7 1.0000 2.0000 -1.0000 1.0000
8 1.0000 2.0000 -1.0000 1.0000
9 1.0000 2.0000 -1.0000 1.0000
10 1.0000 2.0000 -1.0000 1.0000

Lol ddaaMally paadl s Lelai Sl 48 ja Jie Y slae 10 Ao Ui gealiyall Lidis )
Al i) A en e sp LaS Latd Y glae 5 2en Llad daanall s e Uleas
A3k duls -pase Ak G de pull 8 AN (eSay 138 5 dgle Ulaa )
PP EN

e A i) 48y ka1
A 5k aa e S Jale (a5 48y Hh el e 3baatl) (U el )
FAEEI

1- %program to solve a system of linear equations by the SOR
method

2- clear ;

3- format short

4- a = input([' Enter The Array of Coefficients a="); %e.g [1 2;3 4]
5- b = input([' Enter The Arrays of Constants b =']) ;%e.qg [1;2;]
6- n = size(a,1) ;% where a is nxn and we want n only

7- X0 = input([' Enter The Array of first trial X0 ="']) ;%e.g [1;2]]

8- kmax = input([' Enter The Max number of iterations ="']) ;%e.g
[10]
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9- w = input([' Enter The Relaxation Value ="]) ;%e.g [10]
10- X = x0; At = zeros(n,n);

11- for k = 1: kmax

12- X(1,:) = x0(1,)+w*((b(1,)-a(1,1:n)*x0(1:n,:)))/a(1,1);
13- fori=2:n-1

14- tmp = w*(b(i,:)-a(i,1:i-1)*X(1:i - 1,:)-a(i,i:zn)*x0(i:n,:));
15- X(i,:) = x0(i,:)+tmp/a(i,i);

16- end

17- X(n,:) = x0(n,:)+w*((b(n,:)-a(n,1:n)*X(1:n,:)))/a(n,n);
18- x0 = X;

19- disp(X");

20- end

21- %disp(X");
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[xout,yout]=ode23(‘fun’, span, y0)
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y(0) =1
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x?/,

Y(x)=e o Alalaall a2gd iladll Jall

ol il Jia 53 JSEIL 38,4 0de23( ) WAl daud s N el
Lo LegBldat) a3l Sua o 8l Jall g JLlasl) Jall

% using Runge Kutta

clear

f=inline('(x*y)");

[Xout, Yout]=0de23(f,[0 2],1);
curve=plot(Xout,Yout,'rd");grid;hold on; grid on;
set (curve,'LineWidth',2)
i=linspace(0,2); % plotting real solution
y4d=exp(i.*2/2);

plot(i,y4,'k-', 'linewidth',1.5)

ylabel('Y', ‘fontsize',14)

xlabel('Step’, 'fontsize',14)

axis([0 21 9));

legend('Runge Kutta','Analytical solution’)
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